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® Find the value of question mark(?).

* I g (?) T UM JT hifSTT
© 25+5=15

* 30+6=20

® 35+7=7




* A clock 1s set right at 8 am. on sunday. It gains 8 minuts 24 hours. what 1s the

correct time when the clock indicates 9 pm on upcoming sunday?
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* [f' BASKET' 1s written as 'TEKSAB', then how will 'PILLOW' be written in
that code?

* gi< 'BASKET' I 'TEKSAB' {eT@T ST, 1 361 %< H 'PILLOW' =i sh¥l fofam
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® In a school, the bell rings after every half an hour. School starts at 8:00 am and
closes at 1:30 pm. The bell rings three times at the beginning of school, at 10:00
and 10:30 am during the mid-day break and at the end of school. How many
times does the bell ring each day?
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* If 25th February, 2008 was a Monday, then what was the day of 2nd March,
20087 (SSC 10+2)

* I 25 e, 2008 T e IHE TT &1, T 2 AT, 2008 T e hi-41 12

7 \

‘\__)
C.Saturday
D. Monday




* Sheela and Bela start from their office and both walk 10 km each in opposite
directions. After that Sheela turns left and walks 10 km. Bela turns right and

walks 10 km. How far apart will they be from each other now?
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* Select the odd number/letter number-pair from the given alternatives.

o fou T ferehedt & fowm He/sTer wear-am i Y




* Select the odd number/letter number-pair from the given alternatives.
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® Mrs. Lata was thrice as old as her son 8 years ago. Now the total age of both of

them 1s 64 years. How old 1s Mrs. Lata now?
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* Tell the total number of triangles.
* T TIVST shi AT STl




* Six friends A, B, C, D, E and F are sitting in a row facing east. C 1s between A
and E. B 1s to the immediate right of E but to the left of D! F 1s at the left end.
Who i1s on the right end?(SSC 10+2)

e 3: i A, B D; F qd o1 3T Hg sk Th U A oo &l C I H 8 A 3R
E | B{ﬁéh EETGERAIY ki D%WW?!F?}T@@TW%Q&@TW@?%‘?

= A
) 7 ‘Df = :

C Q

; A C.C

@ D.B










®* Find the next term.

® ITTAT U< T shifoly

©22.24.28.% 52. 84
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®* Find the next term.

® ITTAT U< T shifoly

°*0,7,26,63,7




* If + means X, - means + ,X means — and =~ means +

® 34+2-+8-4x2=77




® Daya has a brother Anil. Daya 1s the son of Chandra, Viman is the father of

Chandra. Anil, what does Vimana feel about the relationship?

® TYT 1 Teh HTS A & | ST, =51 1 I © ToH =57 o 10T &l fed 7 A1, o

T FIT AT ?

A. grandfather's brother/aTaT <hl
g

B. Brother/‘ﬂTéc

C. Grandson/dardT

D.None of these/sTH ¥ 1S &




® In a row of 20 students, R is 5th from the right and T i1s 4th from the left, how
many students are there between R and T?
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D. None of these




® Statement :

* Some eyes are ears./%® 3 M &l

® Some ears are lungs./&s bl PHS &l
* All lungs are hands./@¥ B BTY ©.

® Conclusions :

* (I) Some hands are ears./$s BT chl 3
* (IT) Some lungs are eyes./%HS HHe @ &



